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Circle the problem number of the equation, information or graph that represents a parabola.
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3x2 +2x—-4x* =12

(x+2)z+(y—3)z =4

y=8x-7"+10

x*+3x+y* +8x =25
3x* ~4x+3y* +2x-50=0

3y? -2x* =12
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3x° +3y* =36

-y +2x+3x*-40=0
5x* +25x+3y* -6y +30=0

Y -x* =4
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(x-6F+(y-6F =144

=-3x*-4

X +y*=9

X

+y2—2=0
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=2(x-1P+1-y
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25. x+g + y+§ =i
9 9 9

26.centeris (3,4);r=3

27. vertex is (2, 6); opens up; focus is (2, 7);
directrixisy =5

28. center is (0, 0); The asymptotes

arey = i%x . The vertices are (4, 0)

and (-4, 0).

29. vertex is (-2, 2); opens down; focus is
(-2, 0); directrix y =4

30. centeris (-2, -6); r=4

31. center is (0, 0); The asymptotes

arey = t%x. The vertices are (0, 5)

and (0, -5).
32. vertex is (2, 4); opens right; focus is
(3, 4); directrix isx =1
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Algebra 2

Parabolas

Name
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Match the correct conic based on vertex, axis of symmetry, and direction of opening.

1 2
1) HMMOIAV +2
A)
M Vetexi(-2,-4)
Axisof Sym.: y= -4
o
by
!
t=p
B)
~ il Vertex: (2, L&
- _ Axis of Sym: y= -4
lm._ B aF = .
_ F
| -4
gl
O
w..._. — Vertex: (2, -4)
Axis of Sym.: y= -4
EEEE ] %
D)
—p— 2 o Vertex:(2,-4)
| | AxisofSym:y=-4
! 4— _
ke |
.frv/fr T |
= o =t 4.W}J/~ 3%
4/
B e U
¥

2) y=(x-6S-5
A)

¥ —, Vertex: Am. -5)
_ _ Axisof Sym.: x=6
e |
| |
b 5
i =
Vo
T T TWy
w
B) )
WSO - £ Vertex: {5, -6)
] q _ | | | AxisofSym.:x=-5
[ | |
0
| | | |
e ¥ [
L] il
i _ .
¥y I
1
S
- Vertex: ?. |mv
L Axisof Sym.:x=6
|
|
28
D)
- 47 Vertex: (-5, -6)
ﬂ | AxisofSym:x=-5
Ehx
A

Period

D)

Vertex: (-4, -1)

Axis of Sym.: y=-1

Vertex: (-1, —4)
Axis of Sym: y=-4

Vertex: (4, 1)

Axisof Sym: y=1
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Vertex: (4, 1)
Axisof Sym: y= -1
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Vertex: (6, 4)

Axis of Sym.: x= -6

Vertex: (-6, -4)
Axisof Sym: x=-6
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Vertex: (5, -8)
Axisof Sym: x=5

Vertex: (-4, 6)

_ Axis of Sym,: x = -4
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Vertex: (3, 1)
Axis of Sym.: y= -1

Vertex: T_ L:
Axis of Sym,: y= -4

Fx

Vertex. (-1, -3)
Axis of Sym;: y = -3

Vertex: C. uv
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Vertex: (3, mv

Axis of Sym: y=2
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